
ISO 12215-5

Is be low Right? i f i t ' s wrong , P lease te l l me why and how to do
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FRP sandwich ef fec t i ve p la t ing

i = i1+ i2+ i3+ i4
∑Ai*z i2 = A1* ( t /2+h+t i+dc+to)2

+A2* (h /2+ t i+dc+to)2

+A3*( t i / 2+dc+to )2

+A4*( to /2 )2

Note : In ca lcu la t ion , no have A5 and i5 e tc . the th ickness of core on ly p lay the ro le in
comput ing "z "

∑A = A1+A2+A3+A4
∑Ai*z i = A1* ( t /2+h+t i+dc+to)

+A2*(h /2+ t i+dc+to)
+A3*( t i /2+dc+to )
+A4*( to /2 )

z = ∑Ai*z i / ∑A
I = ∑Ai*z i2 + i -A*z2

SM = Min[ I /z o r I / ( t+h+t i+dc+to) ]


